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cercice HI

=1.13=13
=(14-1)-(17-10)=13-7=091

=3 -(6-2-2)=3+5-(6-4)=3+5-2=3+10=13
~ (56—50)-2-3,3:0,3+10
© 1.4+6)-3-3+5-2

Lo sesilionly 6 =1+6+60+6~56+9=26
(4+6)-3-3+5-2

.-_-12‘11'*'110 £=3.3+3.4-11-7-17
10-9+10 294132119
1
- - 22

~1

=(3-3+3)+4(30-7)-8+9=(8+3)+4-23-8+9=12+92~-8+9=105

i=35-[4-(36-30)-6]:6+120
=35-(4-6-6):6+120
=35-(24~6):6+120

=(3+8)-(5+6)+3-(8+5-4)
=11-11+3-(8+20)

=121+3-28 _
=121 +84 =35-18:6+120
: =35-3+120
=452

--[45 ~(2,3-1.8)]-0,2-(0,35-0,15):2

=( ~-05)-02-0,2:2 k=(20-1247)(16-6- 2)[8 (6 +"?0.).]
w0 2 ~15(16-12)(8 - 26) '
s Yol =15-4.208

=0,7 = 12480

Exercice H2

A=(17-19+26):(0,46+0,15)=24:0,6 =40
B =5(72-42) (80 9- 5) =5-30(80 —45) =150 -35 = 5250

c-l3 £.7+5 4415 3 - 35—=1 23
(11 33-14 . 35-18
=3 5 T -1—?- 3—-—:-3-4—‘- = 3
19 17

D=12+2-3-(35-32)

il

[‘3(’1:4-;5-:1_)—3-2]3

- 21_2+2-9
=(57-5)-3 E=(64-45)-(6+6-4)
=52-3 =19:(6+24)

=570

F=0,25+0,75(13 - 10,125)
=0.25+0,75- 2,875
= 0,25 + 2,15625'= 2,40625

G=(1-1)-4321:1234 ='0-4321:1234 =0:1234 = 0

Solutions  P3

=xercice Bl

a=(3-8-16)" —4° =(24-16)" —64 =8 ~64=64-64=0.

b=(400~360):10+4-3=40: 10+12= 4+12 16
6_82.,.3.(32 +14) _g.9 d =0,008 +2- (28 2 0,48)

=64+3+(1+1)° - 72 =50, 008+2 {7, 84 2 048)

i=420-378= 382,2
=3. (81 400 -20% ) + (32-25)

—3 (8100 8000) +800°
= 3 100+ 640000

1+3.23-72 = 0,008 + 2- (15 68 — 048) "300*-6&0000
=54 43872 =0,008+2-15,2 =5640300 4
| 64424272 = 0,008 + 30,4 o__ 64-1-1-4  (64-0,06-1000)
() — 30,408 (243+0):9-3-4 16+16
,___(1_1)199720199720 | 64-4 (64 60)
F=1+8-9+1(5+36)=1+72+41=114 " 24379-12 BRI
60 4
g =8(49-25)-2+1-(16-2)° ~16- (5 +3- 1) Gy e
=8.24-2+14% ~16-(5~3) . 343-64:32 . 125+5-81 _ B0 256
=384 +196-16-2 = 300+40+1 B1-4-3:8 15 32
= 384 +196—32 343 2% Ty 125+ 405 | =4:8
=548 341 - 324-24 =32
5 o ol 2 g 341 530
) fa0=1Y"" ) B ] =B -2 —
heg sl =] elli— -0,027 | 341 306
B R - T 2 A 2:.9. ) ¥ -
L ¢ I : J-

o= 6 AT

! 5 g 2 '_j 9 Z " A3 30
=316+ —-) =l —0 32'7 2.53
U eed | A8 | =6

- ‘ : - 30

- n= '2'“’16 000000 00000000 +

m=82+2%=64 4512 =576

1

=3-(1S+32)—(052—-0 027) _g_2% 0,000 000 0000000001
=3-(16+9)~ (0,25-0,027) " jgs = 216000 000000000000 + 10 000 000000000000
£3.25-0,223 T =216-10" +10-10™°

=75-0,223 37 = 226-10%

=T74,777 T HE =.226000000000D00000




